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Quiz 11
You must show all work to receive full credit!!

Problem 1. (3 pts) Let F = (2zy + 5,2% — 42, —4y). Given that F is conservative,

evaluate /Fdr, where C is any curve from (1,1,0) to (4, —2,1).
c
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Problem 2. (3 pts) Calculate // zds where S is the part of the surface z = gx?’ with
S
0<z<2,0<y<09.

Problem 3. (4 pts) Set up the integral //F - dS where F = (y,2,0) and S has
S

parametrization r(u,v) = (u® —v,u + v,v?) for 0 < u < 2, 0 < v < 3 with downward-

pointing normal. (Do NOT evaluate.)



